
14

15

16

21

12

13

2 3 4

1
23

8
5

6 7
9

11
10a 10a

17
18

19

20

# Part Description Quantity

1 Nut M6 VZ 2

2 Bolt, Threaded M6x30-14H 2

3 "Barb, 1/2"" Tank Drain" 1

4 Screw HX M6x25 VZ 13

5 WIRE BK 16AWG 110 AE AE 1

6 "Barb 1/2""x 1/2"" stem" 2

7 Strip flange 5POL RM5 Wago 1

8 Washer A6.4 ST galv 15

9 Lockwasher DIN 127B 6mm 15

10a Conn. 4P/F Elb. 400/600V 20/18A (a – female; b – male)
1

10b

11 Eye Bolt M8 x 1.25 2

12 Technical Connection Sheet 1

13 Instruction Drain Barb 1

14 Manual Thermostat Control 1

15 PWS Series UL Listed Manual 1

16 PWS 3502 Datasheet 1

17 DTS 34xx Left Mount Iso 1

18 DTS 34xx Top Mount Iso 1

19 DTS 34xx Right Mount Iso 1

20 DTS 34xx Mid Mount Iso 2

21 Ziplock bag 120x170mm PFA 1

22 Label carton blank 55x55 PFB/E 1

23 Bag  ziplock 220x310MM  FLF02 1

24 Drilling Template PWS3502/DTS33-34x1 1

25 UKCA Declaration PKS 3000 Series 1

Pfannenberg Inc.
68 Ward Road, Lancaster, NY 14086 
Telephone:716-685-6866
Fax: 716-681-1521
Internet:    www.pfannenbergusa.com

Datenblatt / datasheet: Access Pack PWS 3502 


